Section 8.1/8.2
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#14 The roof of a house has a slope of V2 . What is the width

Of the house if the height of the roof is 8ft?
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‘-\'-t |‘; Hammond R. looked at the plans for the new house he was building. The plans were drawn down to a scale
\

of -qw\ = )\ £t . . Hemeasured the size of a room on the plans and found it to be 2.75 in. by
3.5in. About how large is the room?
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#16 Draw a triangle. Using some point P in the interior of the triangle as the point of dilation, draw a triangle
twice the size of the original triangle

I

#17 The projector shown uses a slide in which the rectangular transparency measures 3 cm by 4 cm. The slide
is 5 cm behind the lens. How large is the rectangular image on the screen?
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